#include "Arduino.h"

#include "SoftwareSerial.h"
#include "DFRobotDFPlayerMini.h"
#include "Keypad.h"

#define Volume 50

#tdefine Relay 12

#define Busy A©

LockCode[4] = {1, 2, 3, 4};
EnteredCode[4];
EntryCounter = 0;

#tdefine PlayEnd false
Playloop = 0;

byte ROWS = 4;
byte COLS = 4;
byte MaxPinCodelLength = 20;

keys[ROWS][COLS] = {

{1)2)3)13}J
{4)5)6)23}J
{7)8)9)33}J
{40,10,42,43}
}s

byte rowPins[ROWS] {5,4,3,2};

byte colPins[COLS] = {9,8,7,6};




Keypad keypad = Keypad(makeKeymap(keys), rowPins, colPins, ROWS, COLS);

SoftwareSerial mySoftwareSerial(10,11);
DFRobotDFPlayerMini myDFPlayer;
printDetail( type, value);

setup() {

pinMode(Relay, OUTPUT);

mySoftwareSerial.begin(9600);
Serial.begin(115200);

Serial.println();
Serial.println(F("DFRobot DFPlayer Mini Demo"));
Serial.println(F("Initializing DFPlayer ... (May take 3~5 seconds)"));

if (!myDFPlayer.begin(mySoftwareSerial)) {
Serial.println(F("Unable to begin:"));
Serial.println(F("1.Please recheck the connection!"));
Serial.println(F("2.Please insert the SD card!"));
while(true){
delay(9);
}

}
Serial.println(F("DFPlayer Mini online."));

pinMode(Relay, OUTPUT);
digitalWrite(Relay, LOW);

Serial.println("Device is setup");

Serial.println("The current Code is:");
Serial.print(LockCode[0]);
Serial.print(LockCode[1]);
Serial.print(LockCode[2]);
Serial.print(LockCode[3]);




Loop() {

myDFPlayer.volume(Volume);

delay(5000);
Player();

}

Player() {
while(Playloop == 0){
Playloop = 1;
Serial.println(Playloop);
myDFPlayer.play(1);
Serial.println("Starting to play");
delay(2000);
Serial.println(analogRead(Busy));
while(analogRead(Busy) <= 10){
Serial.print("Playing");
Serial.print(analogRead(Busy));
delay(1000);

}

Serial.println("Finised");
Input();

Input(){
Serial.println("Getting Key");

for( EntryCounter = 0; EntryCounter < 4; EntryCounter++){
Entry = keypad.getKey();
EnteredCode[EntryCounter] = Entry;
Serial.println(EnteredCode[EntryCounter]);
delay(1000);
}

Serial.println("Finished");




Serial.print("You Entered:");
Serial.print(EnteredCode[0]);
Serial.print(EnteredCode[1]);
Serial.print(EnteredCode[2]);
Serial.print(EnteredCode[3]);

if(EnteredCode[@] == LockCode[0]){
if(EnteredCode[1] == LockCode[1]){
if(EnteredCode[2] == LockCode[2]){
if(EnteredCode[3] == LockCode[3]){
Serial.println("Code correct. Opening");
¥
else{
Serial.println("Code incorrect. Acces denied");

}
}

else{
Serial.println("Code incorrect. Acces denied");

}
}

else{
Serial.println("Code incorrect. Acces denied");

}
}

else{
Serial.println("Code incorrect. Acces denied");

}

Serial.println(keypad.getKey());
delay(500);




